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Circle the correct answer:

1) Which part is not to be found on the face?

a) cheek b) nose c) forehead d) shoulder

2) How many bones are there in the human body?

a) 230 b) 306 c) 206 d) 106

3) How many teeth does an adult have?

a) 32 b) 30 c) 24 d) 20

4) How many teeth does a small child (4-5 years) have?

a) 32 b) 30 c) 24 d) 20

5) What is the largest of the body?

a) heart b) lungs c) liver d) skin

6) How many type of muscles does the human body have?

a) 8 b) 6 c)3 d) 10



7) The upper extremity does not contain.

a) elbow b) forearm C) wrist

8) The lower extremity can also be called:

a) arm b) wrist c) leg

9) Which is not a human leg bone?

a) femur b) tibia c) fibula

10) Legs cannot be used for:

a) kicking b) brushing c) walking

11) Which system is the trachea part of :

a) digestive b) respiratory C) urinary

12) The urinary system does not include:

a) bladder b) ureters ¢) gallbladder

13) The respiratory system does not include:

a) bronchi b) lungs c) liver

d) thigh

d) knee

d) scapula

d) jumping

d) circulatory

d) kidneys

d) nose



14) The reproductive system does not include:

a) intestines b) testes C) ovaries

15) The large intestine is about:

a) 1.5m long b) 1m long c) 2m long

16) Which is not the part of the stomach?

a) pylorus b) fundus C) caecum

17) Inflammation of the large intestine is called:

a) enteritis b) colitis C) gastritis

18) Inflammation of the small intestine is called:

a) enteritis b) colitis C) gastritis

d) uterus

d) 2.5m long

d) stomach muscles

d) stomatitis

d) stomatitis

19) Inflammation of the mucous membrane of the mouth is called:

a) enteritis b) colitis C) gastritis

20) Which is not a respiratory system disorder?

a) cough b) pneumonia ¢) bronchitis

d) stomatitis

d) gout
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